EARAROBEEIERT — 2 N— IBISH —F

2017888120 (4) 2E#R5H

N >53m *B7 U5l B

EZS

& ‘ [RERSE] — | & (&) 1800M FBE

[A~&£] 1 7% 5,000,000  ~ 23 :2,000,000H 33 :1,300,000 " 43 :750,000 " ~ 5 j& :500,000

& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
. SRR :54. -4-4- . . SR (i)

i 0| P=IN A 1 —F— 3 LA 1(5_4)9 4-4-4-3 |39.8] 91.0 | 2 ?8)6 iy
I INATA—H— BvAT)—> A TIWNT 7—L
oy S 7 3 | SEEAA 1:55.3 4-4-2-2 | 40.3| 88.1 | 5 426 | BRI (EiH)

21712 EX¥-23->X 57;1.0 2 1/2) (-2) E(E) EviLyRTr7—L
LTANWNTTFY— B X—N—)—7 > EvJLy RIT7—L

B > 3 | =t 1:56.6 10-10-10-9 | 40.2 | 77.5 | 14 | 460 |%REBA (E#)

3171(13 EA/ ALY v - 56.0 (8) (-2) T‘ﬁt‘i%
RLZNAF 21— B:FTURILNYE— Tr—=3I 7% x4

AT i 4 3 | EHEER 1:56.6 8-7-7-7 | 41.0| 78.1 | 12 508 | AR (5EH)

AR RR R 5.0 7E) (-1p) | BEHEE
R:AYIRIA4Y BRIV y T IR
-2 N 4t 3 | KEHRA 1:56.9 4-4-6-4 | 41.6| 76.3 | 1 470 | FEREX (EH)

5|59 =¥/ Fvht*® .0 (1 3/a) (o) | BT
Y= IF—I B/ erXxy BSliEe
F o = = 43 | BUERHE 1:57.1 1-1-1-1 | 42.3| 75.4 | 7 506 | Bk (i)

6 g J27417 1LA53.0 (1 1/4) (-4) E(#k) JNVwrF14—%5TLy KRR
RTIRATFSLIN B:T—RT A v — Ja—-Y—Ty7—L

S i 3 | EHE 1:57.5 2-3-4-4 | 42.4| 725 | 8 504 | HEEE (EH)

7 11 TA4IVKI T 56.0 (2 1/2) (-4) FERTER

LiTANRTE— B TYF IR BRT S H KIS
N B “ 7RIS KER :58. -12-9- . . M EBEL (3E#)

8 ol N KLy KP—y i3 Foe 1(568)5 11-12-9-9 | 42.4 | 65.0 | 11 (4_6;6) L

R:FaTL AN BIL— kT BHRIRANKIS
i3 | ENER 1:58.6 11-10-13-13| 42.1 | 63.8 | 13 | 468 |MAIEF (X&)

9 6 PAY.Y;| 54.0 (3/4) (-6) KEATHE

T4 =TZhA4 B:HANFy—bvT Sz e
= # 3 | mEEE 1:59.0 13-13-14-13| 42.3 | 61.1 | 6 484 | /NBIRZ (FiH)

10N 4 | VIVZ—L 56.0 2 1/2) © | B G1L=2y

LN—=VI54 B:93I5-Y () #AaI—-KL—va>@AET 7
3 # 3 | M. FA-A 1:59.1 7-7-8-8 | 43.4| 62.1 3 466 | FEAIE— (EH)

1118115 m e 56.0 (vE (-4) R;EEIEEH
L:x>vvH/xt% B:TITLK— () HEI-RL—-2a>AET 7
= FT7w TS 4 3 | IHRS 1:59.2 8-9-10-9 | 42.9| 60.6 | 10 424 | fREEIETE ()

12 71 TA7T7v TR 56.0 (3/4) (<) |BRL—Z ()
L:ZMN)—bEPX B:TETT BAR XE

P TS o3 | BFEK 1:59.3 13-13-10-12| 42.9 | 59.9 | 9 488 | AR (SEiH)

13|/ 5| 8 9//'7{/‘”'_ Ab4.0 (1/2) (-8) () 4/ v 97X

LNn—ErTv— BiuArTaEY— HE ik
SRy > 3 | HE—H 1:59.5 15-15-15-15| 42.6 | 57.9 | 15 | 456 |BERIRME (%iH)

14| 8 |14 AHT7FTH L - 56.0 (1 1/4) -2) #IU3ES
LIV T A—H— B:EHTHAL X KRS
LS. R t 3 | BiElE 2:04.7 2-2-2-4 | 49.7| 39.4 | 4 492 | FEESL (EH)

15 5| ¥>RUZEY K [B] g 56.0 (2144) 46) | oAV
LTANNGTTFY— B:Ey7UND RAUE D S

@ 21 L

E»y) 52.7-40.1

NA> 24 L | 12.4-11.4-12.3-13.3-12.8-12.6-13.3-12.9-13.9

® 1—F—@EBIERL

1T=7r= (x3,5,11)-(2,9,12)-15(1,7)13(6,10) - (4,8)-14

Pal=5F= 3,5,11(2,9,12) (1,15)-7-(6,13)10(4,8)-14

Jo=5r= 3(5,12) (2,11)9,1,15-10(7,13,8)6,4,14

AT =5F= (x3,12)2-(5,9,11)1,15(7,13,10)8(6,4) 14

[ N5

B OB 2 3600 | | 71 K 2-12 870/ | | # = 2-7 1,610 | | 3&4E | 2-12-13 54,970
B B 2 170 2-13 5,030 B = 2-12 1,960M JEH 2-12-13 179,320H
12 320 12-13 13,360M B H 2-12 3,020M
13 2,010

ABICOVWTRDTEEERROODE. TR LIV,




